MEMBERS' ALLOWANCES ANNEX 2

(a) Basic Allowance

Current Scheme Amount (Panel Report January 2002)	Amount being paid (90% of full rate)	2006 Survey Average Shire Districts/Boroughs in Country	2006 Survey Average Shire Districts/Boroughs in East of England	Panel Recommendation for 2008/09
£ per annum	£ per annum	£ per annum	£ per annum	£ per annum
3,150	2,835	3,991	4,363	4,300

(b) Connectivity Supplement

Current Scheme Amount (Panel Report January 2002)	Amount being paid	2006 Survey Average Shire Districts/Boroughs in Country	2006 Survey Average Shire Districts/Boroughs in East of England	Panel Recommendation for 2008/09
£ per annum	£ per annum	£ per annum	£ per annum	£ per annum
500	500 in first year in office 250 in subsequent years	-	-	500 in first year in office 250 in subsequent years

(c) Special Responsibility Allowances

Position	Existing Scheme Amount per annum (Panel Report 2002/Multiplier applied to Basic Allowance)	Amount currently being paid per annum (50% of full rate)	2006 Survey Average per annum for Shire Districts/Boroughs in Country	2006 Survey Average per annum for Shire Districts/Boroughs in East of England	Panel Recommendations for 2008/09 Amount per annum/ Multiplier applied to Basic Allowance
Leader of the Council	£6,300/2	£3,150	£11,065	£11,552	£10,750/2.5
Deputy Leader of the Council	£787.50/0.25	£394	£6,319	£6,986	No allowance
Cabinet Members	£6,300 each/2	£3,150 each	£5,994	£7,428	£6,450 each/1.5
Overview and Scrutiny Committee Chairman	£6,300/2	£3,150	£3,721	£4,623	£4,300/1
Chairmen of Overview and Scrutiny Standing Panels	£3,150 each/1	£1,575	-	-	£2,150 each/0.5
Chairmen of Area Plans Sub- Committees	£2,362.50 each/0.75	£1,181	-	-	£3,225 each/0.75
Chairman of District Development Control Committee	£3,150/1	£1,575	£3,824	£4,556	£3,225/0.75

Position	Existing Scheme Amount per annum (Panel Report 2002/Multiplier applied to Basic Allowance)	Amount currently being paid per annum (50% of full rate)	2006 Survey Average per annum for Shire Districts/Boroughs in Country	2006 Survey Average per annum for Shire Districts/Boroughs in East of England	Panel Recommendations for 2008/09 Amount per annum/ Multiplier applied to Basic Allowance
Chairman of Licensing Committee	£1,575/0.50	£788	£3,034	£4,261	No allowance
Group Leaders	(Groups with 2-5 members) £315/0.1 (Groups with 6-10 members) £630/0.2 (Groups with 11-15 members) £945/0.3 (Groups with 16-20 members) £1,260/0.4 (Groups with 21-25 members) £1,575/0.5 (Groups with 26-30 members) £1,900/0.6 etc etc	£158 £315 £473 £630 £787.50 £950	- - - -	- - - -	No allowance No allowance No allowance No allowance No allowance No allowance
Chairman of Complaints Panel	£1,575/0.50	£788	-	-	£1,075/0.25
Chairman of Housing Appeals and Review Panel	£1,575/0.50	£788	-	-	£1,075/0.25
Chairman of Staff Appeals Panel	£1,575/0.50	£788	-	-	£1,075/0.25
Chairman of Audit and Governance Committee	-	-	-	-	£2,150/0.5
Chairman of Joint Consultative Committee	£2,362.50/0.75	£1,181	-	-	No allowance